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The table below presenrs data on changes in a mosquito population of a |0 hectares swampv area. The

sun'ey was made before, during and after spraring with the insecticide DDT.

Number of mosquitos X |0" per hectare
535 525 530 r25 275 265 275

Dayl o 30 600)| e0 120 150 180

(1 3 First day of spraying.
(2) Last day of spraying.

(at Present these results as a graph below.

250 450

210 (2) 240

[3 marls]
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(b) stajc the chanie tt.t toot plecc between dey 60 ead day 9) and erplain it. [2 marks."

(¢) Givc im crplanetion for thc changes in thc populetion bawcen dey 90 end day 120. [I mar,

@I Explain rhe changes ba*ccn diyj 20 jhd 210. why docan't thc populstioj jtjch its inirial size? [2 marks.

'(€) wh.j fictors can crptein thc cheages in populetion from day 2t0 Onwards? Il mark.

(O Compare thc chaajcs in populetion numbci bawcen days 90 and 120 with lhosc bctwen days 210
and 1;10. Give an ciplanetion for rhis difcrcnce. [I marx.
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Auostion 2

The diagrem bclow was taken from thc laboratory repon of | studenr who had been observing nuclci

undcrgoing mitosis.
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(al 1dentify the structures labelled A, B, C and D on the diagram. [2 marks]
StructureA......
Structure C .
Structure D
(bt what is thc chromosome numberof the organism from uhich this nucleus camc? 1| marka
1 L}
(cl At what suge of mitosis was thc nuclcuj when jhe diagnm wis made? [t markJ
.
(d) Describe what is happeaing at this stage of mitosis. [2 marksJ



